1. The population of seven year olds’ weight has normal distribution with a mean of 73.5 and a standard deviation of 8. You think walking to school influences kids’ weights. 

Ho =

HA =

  A sample of 55 kids is drawn and we have them walk to school for a month. After, their mean weight = 75.7.


Calculate your statistic.

Evaluate your Null Hypothesis.

What does this conclusion mean about why your sample mean is different from the population 

one?

Describe the mistake you could be making.


How often will this error happen?

2. You want to test whether primal scream therapy has an effect on symptoms of neuroticism. Neuroticism is normally distributed in the population, with a mean = 35, and s = 4. 

Ho =

HA =

     A sample of 22 neurotics is drawn for primal scream therapy. After the therapy, the symptom mean = 34.


Calculate your statistic.

Evaluate your Null Hypothesis.

What does this conclusion mean about why your sample mean is different from the population 

one?

Describe the mistake you could be making.

Answers
1. H0 = The sample/population difference is chance (or, walking has no effect on weight)    
    HA = The IV (walking) affects weight
     z = 2.04

     p (two tailed) = 4.14% (if paper chart, 2.07 x 2 = 4.14%); <  5%, Reject H0

    The IV (walking) probably affects weight
    Type 1 error, the difference could be chance

    4.14%
2. H0 = The difference is chance (or, the therapy has no effect on neuroticism)
    HA = The therapy effects neuroticism 

    z =  1.18

    p (two tailed) = 23.8% (if paper chart, 11.9%  x 2 = 23.8%); > 5%, Retain H0
     The difference is probably chance.

   Type 2 error, therapy could be the reason for the difference.
